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Partition number and table of permutation make a patarn of distribution.
We can consider asimple model of Wealth distribution.
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Download Jlanguage
http://www. jsoftware.com
Scrip Library
http:/japla.sakura.ne. jp

OO0 A Script

tap=: i.@! A. i. NB. J Vocaburaly A.

part_tap=: 3 : 0

NB. use partition number & tap
’NO® SO0’=. y NB. N and column
NB. Usage: u 4 3/u 3 3

TMPO=: |. ;("1) ,.(S® >:/;# L:0 tmp )# tmp=. partition NO
IND=:{ tap SO
ANS=. <"’

for_ctr. i. # TMPO® do.

TMP1=.{". ;("1) ,. IND{ L:® ctr { TMPO
ANS=. ANS,TMP1

end.

\:” ;("1) ,. }.ANS NB. down sort

)

NB. from partition_shimura.ijs

partition=: 3 : 0

NB. partition number

NB. Usage: e.g. partition 10

ANS=. (<<1),(<1 1;2) NB. 0,1

if. y<3 do. ANS=. ;("1),. ANS goto_skip. end.
NRO=: }. >: i. y NB. first is 2



OO0 A Script 11
NB., - -~
for_ctr. i. <:# NRO do. NB. number exam

TMP2=. ((>:ctr) {. NRO) calc_part_sub ANS
ANS=. ANS,< (<tmp # 1), (TMP2),< tmp=.>: ctr { NRO

end.

NB. ANS=. ; 10 #. L:0 |. {: ;("1),. ANS NB. change on 10 sin-suu
ANS=. {: ;("1),. ANS NB. change on 10 sin-suu

label_skip.

ANS

)

calc_part_sub=: 4 : 0
RW=. |. i. # NR=. x NB. RAW for pickup e.g. 5->2 3 4
ANS2=. <’
for_ctr. i. # NR do. NB. partial of number exam
YO=. (ctr{RW) { y
if. 0=*/ (ctr{NR) check_major YO
do. Y0=. ((ctr{NR) check_major YO®) # L:1 YO end.
TMP1=. >(< ctr{NR) , L:® Y® NB. connect with ,
ANS2=. ANS2,<TMP1
end.
TMP=. ;}. ANS2
)

check_major=: 4 : ’ ;*/(L:®) x >:/ L:0 ; y’



